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Punctured plane
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Argument

Friday, April 15, 2016 4:02 PM

WithouX loss ot Csf,v\ewq\?-@‘j) QsSume ‘13(0\':—0.
Then, when one varies 0 tn The dsmamn S‘,

(IS = %Le) ckawxes de‘(\cuel ow\ﬂj Qm’eowwm\\a, .
oy tlae 2xaw ple °§ f and , the Avaphs
of ()b are dpwn  helow

'lﬂ[
Note that the “we “endy”
—§_; (PL_ ok (0,0) owmd (m,2n)

/ thbu@\\\,k Cowe s]wev\d +t«

ob/\ - NCIN Y P&v\ﬁ o thae (mr‘»
of 1 ad
Tn the above \»lckwres, s eacy to Csﬂt‘mqwdn
C\r\owc\( SE_\: ‘o with.  te two e\AAMP&w\'t% -—E‘txeé.
Thi %lucs a ksvwo‘tols\% hetuwaun f Gndl ,
Howwo\, tla %\w“olf\ O'f s c‘lﬁmf.
& |

A

2T

]

~

notes Page 4



Branch of argument
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